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Transcribing English Phrases

Transcribing English Phrases is a sequel to Transcribing English Words, which is a practical
guide to the pronunciation, and transcription, of individual words in English.  Transcribing
English Phrases is designed as a practical guide to matters of pronunciation when words
come together in phrases and clauses.  It provides explanations for the kinds of variation to
word pronunciation that happen in ordinary, typical, informal colloquial speech in English.
The specific phonological features are the processes of simplification – assimilation
(anticipatory / coalescent / perseverative; phonemic / allophonic), elision, epenthesis and
liaison – and the effect of rhythm, particularly in the matter of strong and weak forms.

The term phrase is taken liberally to include those elements of clause structure that are larger
than single words: nominal, verbal, adjectival, adverbial phrases (or, groups) and
prepositional phrases.  For the sake of convenience, Transcribing English Phrases also
includes instances where unstressed items are closely attached to stressed items even if they
belong syntactically to separate phrases; eg I’ll get them, where the subject I is fused
phonologically with the verb phrase ‘ll get, and the object them (unstressed) cannot stand
alone.

Like its companion course, the aim of Transcribing English Phrases is to develop your
powers of observation in matters of English pronunciation; it starts off gently with plenty of
examples and exercises in order to build up your confidence. Part 1 deals with all the
processes of simplification and concludes with an elementary test; a key is provided for this
test, but not for all the other exercises because you can’t go wrong with them! Part 2 deals
with rhythm and all the cases of strong and weak forms. Again the idea is to start off gently
and work up to the complications of the n’t forms. Part 3 consists of genuine monologues for
transcription; the first one is accompanied by a good deal of guidance, the second one with
less, and the third one with none at all. A key is provided to the transcription of these three
texts.
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Introduction
Talk does not normally consist of single words.  Sometimes it does, but much more often,
talk consists of a vast number of words connected together in phrases, clauses, sentences,
phonological paragraphs – in whole texts of discourse.  An utterance that consists of a single
word is usually a response like Yes, No, Well, Maybe, OK, Certainly, Absolutely, or Tench,
Paul, Cardiff, British, Male ..... But in most talk, words pile upon each other and they affect
each other’s pronunciation.

Take a simple example like Ten green bottles.  Most people would recognize this phrase as
the title of an old song and would probably say it quickly and without any hesitation.  As they
did so, they probably would not notice that the pronunciation of ten and green changes
because of the contact each has with adjacent words.  In this case, ten  would probably be
pronounced with its / n / changing to / M / in anticipation of its contact with the / f / of green;
and green would probably be pronounced with its / n / changing to / m / in anticipation of its
contact with the / b / of bottles.  These kinds of change reflect a process known as
simplification, which is the equivalent in pronunciation to processes like economy of effort,
or ‘cutting corners’, in other spheres of life.

There is another kind of effect when words come together in phrases and clauses.  Just as
words have a stress pattern, phrases and clauses do too.  Think again of the old song:

Ten green bottles
Hang ing on the wall
And if one green bottle
Should accidentally fall
There’d be nine green bottles
Hang ing on the wall

Each line has three beats, or stresses – printed in bold -  which means that certain words and
syllables are pronounced without stress -  printed plain.  In order to say these unstressed
words quickly enough not to spoil the rhythm, they are usually pronounced with a weak
vowel.  And this means that certain words have at least two possible pronunciations - a strong
form with a strong vowel, and a weak form with a weak vowel.  Take the word and for
example.  Taken by itself, it is pronounced as / !ænd /; this is its strong form.  And it is
sometimes pronounced like that in talk, for emphasis or contrast.  But much more often, it is
pronounced in a different way, as in this song, as / ?n /; this is its weak form.  The choice
between its strong or weak form depends upon its role in a phrase or clause; if it is just
connecting words or clauses, it is usually pronounced in its weak form, but if someone wants
to draw attention to the connection itself, it would be pronounced in its strong form.  This is a
choice at the level of discourse which is then reflected in the degree of prominence that a
person gives a word within a phrase or clause.  As a general rule, lexical (or ‘content’) words
like nouns, verbs, adjectives and adverbs are made prominent because of their importance in
a message, whereas grammatical (or ‘structure’) words like conjunctions, prepositions,
pronouns  and determiners    are usually pronounced without any prominence because their
role is basically to provide structure to phrases and clauses.  English rhythm, then, relates to
the way in which unstressed syllables are integrated with the strong syllables of prominent
words in discoursse, to produce the pronunciation of phrases and clauses.

Most talk is conducted in an informal, rather rapid, colloquial style.  Occasionally, talk is
slow and formal, in which case the processes of simplification would not necessarily operate.
Sometimes, the pace of talk is reduced to dictation speed when even rhythm choices do not



5

operate.  If you had to dictate the Ten Green Bottles song, you would probably articulate all
the words in their full forms. (The dots (.) indicate pausing.)

!sDm - !fqh9m - !aPsk<y
!gzMHM - !Pm - !C? - !vN9k
!zmc - He - !vUm - !fqh9m - !aPsk <
!RTc - !zjrh - !cDms?kh - !eN9k
!CD? - !vTc - !ah9 - !m`Hm - !fqh9m - !aPsk <y
!gzMHM - !Pm - !C? - !vN9k

Contrast this pronunciation with the way you would probably sing it!

!sDM !fqh9l !aPsk <y
!gzMHM !Pm C? !vN9k
?m He !vUM !fqh9l !aPsk <
R?c !zjrH!cDmskh !eN9k
C? a ah !m`HM !fqH9l !aPsk <y
!gzMHM !Pm C? !vN9k

Obviously, normal, ordinary, informal, colloquial talk is not like singing with its carefully
measured beat, but it is nevertheless marked by rhythm choices and simplification processes
as illustrated in the song.

We will consider the simplification processes first.

PART 1: Simplification

Assimilation

The adjustment of the articulation of words as a consequence of their immediate spoken
environment can happen in various ways.  When an adjustment is made to accommodate an
actual phonetic feature in the immediate environment, that process of simplification is known
as assimilation.  The adjustment makes the phoneme more similar to its environment.  The
adjustment of the / n / in ten to the velar articulation of the / f / in green is a case of
assimilation: the / n / becomes velar / M / which shares an identical feature with the velar
articulation of / f /.  Similarly, the / n / of green becomes bilabial / m / in anticipation of the
bilabial articulation of / b / in bottles.

/ n / in word-final position regularly adjusts itself in English to the anticipated point of
articulation of the consonant at the beginning of the next word.  You might have noticed what
also happens to the / n / of one and nine in the song.  Think of common phrases with the
prepositions on and in which are followed by words beginning with bilabial / p, b, m / and
you will notice that the / n / easily adjusts itself to / m / in anticipation.

on purpose Pl !o29o?r in person Hl !o29rm

Now listen to and transcribe
on paper _______ in print _______
on principle _______ in prison _______
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on behalf _______ in between _______
on balance _______ in Bristol _______

on Monday _______ in March _______
on my behalf _______ in medicine _______

Notice that in cases like on Monday and in March, there is a ‘double’ / m / - a single
articulation of double length to account for the final / m / of on and in and the initial / m / of
the following word.  Otherwise it would sound like

om unday im arch
which does not sound typical of native English speech.

In a parallel way, word-final / n / easily adjusts to a velar / M / in anticipation of following
velar consonants / k, g /.

on call PM !jN9k in case HM !jdHr
Listen and transcribe

on course _______ in keeping _______
on guard _______ in Gloucester _______
on grass _______ in goal _______

An identical case of assimilation occurs in the prefixes un- and in- (whether it means ‘in’ or
negative). Listen and transcribe.

unpleasant  Ul!okDym<s input      !HloTs
unbalanced _______ inbuilt _______
unmade _______ inmate _______
unkind _______ incorrect _______
ungrateful _______ ingratitude _______

Now consider these phrases and note the assimilation process:
10p !sDl !oh9 10 quid !sDM !jvHc
£1 _______ one go _______
fine mess _______ fine grain _______
gun boat _______ gun carrier _______
hen party _______ hen coop _______
ten pin bowling_______ 7 cases _______

All these cases of / n / assimilation involve adjustments from one phoneme, / n /, to another
/m, M /.  These are instances of phonemic assimilation.  But the same kind of assimilation
occurs in

in fun ten things sun rise in waves
in fact one thought on show on Wednesday
on vacation in there John Jones runway
in verse in theory in use ten weeks

But the resulting articulation from the assimilation process is not identical to an existing
phoneme: there is a labio-dental nasal [E] before the labio-dental / f, v /, a dental nasal [m]]
before the dental / S+ C /, and either a post-alveolar or palatal nasal [I] before / r, R+ sR+ cY+ j /.
These are instances of allophonic assimilation, since the adjustments do not coincide with
other identifiable phonemes, and so are not recorded in a phonemic transcription.
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Assimilation of final / n / is common in many other languages, including Latin, where the
bilabial assimilation was actually expressed in the orthography: in + possibilis > impossibilis.
As a result we have spellings like impossible, improper, impress, imbalance, imbecile,
immense, immeasurable in English.  And impromptu from Italian.

*
Assimilation of final / d / in English is almost parallel to that of / n /, but this is not matched
in many other languages.  The / d / becomes bilabial / b / - retaining its voicing – before
bilabial / p, b, m /, and becomes velar / f / before velar / k, f /.  (This is true of most English
accents, though West Walian English is an exception.)  Notice the process in

bad penny !aza !oDmh red kite !qDf !j`Hs
good boy _________ bad girl _________
red meat _________ good gracious _________

Notice it too in the greetings:
good morning !fTa !lN9mHM goodbye !fTa !a`H

Notice that in cases like good boy, goodbye, there is a ‘double’ / b / - a single articulation of
double length to account for the final / b / in / fTa / and the initial / b / of the following word,
likewise, a ‘double’ / f / in bad girl.

But final / d / also becomes post-alveolar / cY / before palatal / j /.
Notice the process in

a bad year      ? !azcY !i29 good use !fTcY !it9r
Note the subtle difference in articulation between good use  and good juice .!fTc cYt9r..

Historically, this post-alveolar assimilation of / d / before / j / accounts for the / cY / in words
like grandeur, verdure, soldier and, more recently, in educate, gradual.  (Standard South
Walian English keeps the / dj / sequence in soldier: / !r?Tkci? /.)  Many transfer this process
also to the beginnings of words as in due, duty .!cYt9+ !cYt9sh..

The same kind of allophonic assimilation occurs in phrases like
good fun a bad thing  a red shirt

which we noted with /n/ above.

*
Assimilation of final / t / in English used to be exactly parallel to assimilation of final / d /,
producing / p / and / k / - retaining voicelessness – before bilabial / b, d, m / and velar / k, g /.
Thus hot potato would be / !gPo o?!sdHs?T / and white cross  / !v`hj !jqPr /.  But a new
tendency has developed and that is to articulate final / t / as a glottal stop [ > ].  This produces
hot as [ !gP> ] and white as [ !v`H> ], which eliminates any possibility of assimilation.  Listen
to the two possibilities in the following phrases:

hot [ > ] potato hot / p / potato white [ > ] cross white / k / cross
not [ > ] bad not / p / bad eight [ > ] goals eight / k / goals
right [ > ] mess right / p / mess

Similarly, two possibilities before / j /, where the / t / could assimilate to post-alveolar / t?/ or
not

right [ > ] use right / t?/ use
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Historically, this post-alveolar assimilation to / t?/ before / j / accounts for the / t? / in words
like venture, picture, question and, more recently, in situation, actual.  Many transfer this
process – as for / d / + / j / - to the beginnings of words like tune, Tuesday.  (One chocolate
firm recently ran a series of adverts relying on the popular perception of this tendency: Every
day is Chooseday!)

Listen also for the distinction between words like light (with glottal stop) and lie, right (with
glottal stop) and rye, etc, in these phrases

light detector lie detector Great Britain grey Britain
right bread rye bread hurt feelings her feelings
short line shore line tart manufacturer tar manufacturer
boat man bowman

and the subtle difference in articulation between
white shoes !v`H> !Rt9y why choose !v`H !sRt9y

Historically, the older tendency to assimilate may well account for the frequent mis-spelling
of utmost as *upmost.  No doubt, the sense of the word and the analogy with uppermost also
contributed.  (West Walian English is again an exception, where a fully articulated / t / is
usual in all these contexts).

*
Final / s / and / z / assimilate to post-alveolar / ? / and / Y / in the face of post-alveolar / ?,
t?, cY / and palatal / j /,  Consider phrases with  this / CHr / and these / Ch9y /

this shop CHR !RPo these shops Ch9Y !RPor
this chair _________ these chairs _________
this job _________ these jobs _________
this year _________ these years _________

Notice that in cases like this shop, bus shelter, there is a ‘double’ / ? / to account for the /?/
assimilation at the end of the first word and the /?/  at the beginning of the following word.

Historically, this post-alveolar assimilation of / s, z / before / j / accounts for the /?, Y / in
words like pressure, mission and pleasure, vision and, more recently, in issue, usual.  It also
accounts for the /?/ at the beginning of words like sure, sugar.  Notice also how / s / readily
assimilates to /?/ before the / t? / in words like mischief . !lHRsRHe., question . !jvDRsR?m.,
Christian . !jqHRsR?m..

You will have noticed how / t, d, s, z / all yield to the post-alveolar assimilation process
before / j /.  This is particularly noticeable when the following word is you or your, and is
easily demonstrated in the following phrases

did you?
     you had your chance!

If the word you or your is unstressed not only does the assimilation process adjust the
pronunciation of / d / to / cY / in anticipation of the / j /, but the / d / and / j / actually coalesce:
/ !chcY t /, / it !gzcY N9 !sR@9mr /.  However if the word you or your is stressed, as, for
example, in emphasis or contrast, the / j / is retained: / !chcY !it9 /, / !it9 !gzcY !iN9 !sR@9mr /.

Notice, then, these cases where you/your is unstressed
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I need you `h !mh9cY t I’ll hide your money `h k !g`HcY N9 !lUmh
She loved you _________ I’ve sorted your car out_________
we’ll miss you_________ cross your arms _________
it wakes you up________ he likes your sister _________
we’ll lose you _________ use your head _________
cocoa warms you up_________ he sees your problem _________
as you know _________ This is your life _________
as you like it _________ does your wife know _________
it does you good_________ where’s your money _________
he has you in mind_________ what was your job _________

Remember that there are two possibilities when /t/ is followed by /j/
he’ll meet you   gh k !lh9>.sR t he’ll meet your friend     …!lh9>.sR N9
it won’t hurt you_________ I hate your guts! _________

*
All the cases of assimilation we have considered so far involve an adjustment in the place of
articulation in anticipation of (or in coalescence with) an immediately following consonant.
The words have to belong to a phrase or a close knit syntactic structure within a clause.
Assimilation often operates when a pause of hesitation interrupts the pronunciation of a
phrase, like he’s gone . by bus /...!fPl - a`H--- / .  But it does not operate when the pause
realizes the boundary between two clauses: how has he gone? By bus? .---!fPm - a`H---.-.

*
A quite different case of assimilation involves an adjustment in voicing.  A voiced fricative in
word final position often loses its voicing, either partially or fully, if the next word begins
with a voiceless consonant.  For instance, final / v / in have may weaken to a partially
devoiced [ vfi ] before a voiceless consonant in a phrase like have to, or it may weaken with
full devoicing and become identical to / f /.  Listen to the two possibilities:

!gÂzufi st !gÂze st
Similarly, final /z/, eg has to

!gzyfi st !gzr st
The partial devoicing process is a case of allophonic assimilation, but the full devoicing
process amounts to phonemic assimilation.  Notice that the / v / of of, the / ð / of with, the / z /
of is, was can all be affected.

of course with care he’s too bad
with support she’s fine

In the following cases, note once again the tendency for a single articulation of ‘double’
length to account for the assimilated consonant at the end of one word and an identical
consonant at the beginning of the following word.

full of fun with thanks that was so nice

This devoicing tendency often occurs within a word, at the juncture of two morphemes, in
parallel situations.  Thus withstand / vHC!rszmc / becomes [vHCfi!rszmc] or / vHS!rszmc /, and
absent / !zÂarm<s / becomes either [!z Âafirm<s ] or / !z Âorm<s /.  Likewise subsist, absolutely,
obscene, newspaper.  In the word absurd, two alternative assimilation processes may be
heard: either the / b / becoming [afi] or / p /; or the / s / becoming / z /: /zo!r29c/ or / za!y29c ..
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*
That second alternative – the voicing option – is frequently heard in other cases where a
voiceless fricative, particularly / s, ? / between voiced sounds becomes voiced itself.  A well
known example is the change that has happened to the name Asia, where / R / has begun to
give way to / Y /: .!dHY?.; and version / !u29R?m / to / !u29Y?m /, resource / qH!rN9r / to . qH!yN9r .,
transit / !sqzmrHs / to / !sqzmyHs / and Muslim / !lTrkHl / to / !lTykHl /.

*
These are the main cases of assimilation in English.  Assimilation – phonemic or allophonic –
is usually anticipatory, but occasionally coalescent.  It involves either the adjustment in the
place of articulation of final / n, d, t, s, z / before certain consonants, or the adjustment of the
voicing of fricatives (and occasionally, plosives) according to their environment.  But there is
one other instance of assimilation in English where an adjustment is made that retains the
place of articulation of a preceding consonant.  This happens regularly in the word happen!
If no vowel follows, the final / n / becomes syllabic and adjusts to the bilabial articulation of
/ p /: / !gzol< .: `lso: happens / !gzol<y ., happened / !gzol<c ., but not in happening,
where the / n / is not syllabic: / !gzomHM ..  This kind of assimilation is called retentive or
perseverative, and is relatively rare in English – although it is common in other languages.
Other occasional instances in English include the possibility of open / !?To?m . becoming
. !?Tol< .; opens / !?To?my . becoming / !?Tol<y / and opened  . !?To?mc . becoming
. !?Tol<c .; but opening / “?TomHM . keeps the non-syllabic / n /.

Elision

A second type of  simplification involves not an adjustment to a sound, but its complete
removal.  This is known as elision; the missing sound is said to have been elided.  Take the
name Christmas as an example; it used to be a compound consisting of Christ and mass, but
in the course of time, the / t / of the first word has been elided, and nowadays nobody would
normally pronounce the name with  a / t /.  Similarly, the word handkerchief  used to be a
compound consisting of hand and kerchief, but again in the course of time the / d / of the first
word has been elided.

As it happens, elision mainly affects final / t, d / if they are preceded by a consonant – as in
the cases above – and also followed by a word beginning with a consonant – again, as in the
cases above.

First of all, we will consider the elision of final /d/. Notice what has happened to the / d / in
these other (formerly compound) words: handsome, sandwich, grandfather, grandchildren.
Notice too that as / d / is elided in grandparents, the preceding / n / is adjacent to a bilabial
consonant and assimilates to / p / by becoming / m /:  .!fqzl$oD?q?msr .-  Try and transcribe:

grandpa _________
and also

grandmother _________
grandma _________

keeping a ‘double’ / m / for the assimilating / n / and the / m / of the second part of the
compound.  Transcribe, likewise:

handbag !gzl$azf
windbag _________
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windmill _________
Transcribe

handset !gzm$rDs
landscape _________
bandstand _________
friendship _________
bend them _________

Now cases where / d / is preceded by / l /
wild beasts !v`Hk !ah9rsr
old men _________
child protection_________
goldfish _________
fold them _________

The fact that the elision of / d / makes some of these words identical to others (while, goal,
foal) does not seem to trouble native English speakers, as the context usually makes it quite
clear which word is intended.  Occasionally, there is potential ambiguity as in cold shed/ coal
shed, but again, usually the context is clear.  Elision is sometimes expressed in 'popular'
spelling, eg Ol’ King Cole, Ole Man River.

Elision, however, does not take place if the following consonant is / h /, such as in
hand held !gzmc $gDkc
grand house _________
wild horse _________
old hand _________

and is optional if the approximants / r, w / or / l / follow
hand rail _________/_________ hand luggage _________/_________
Grand Rapids _________/_________ landlocked _________/_________
old rope _________/_________ old lady _________/_________
wild west _________/_________ wild lily _________/_________

If / j / follows, assimilation to / cY / usually takes place
land use !kzmcY !it9r
old year _________

Thus, / d / elision takes place if it is word-final, preceded by a consonant and followed
immediately by a word beginning with a consonant (but with the above exceptions).  It also
takes place if a suffix follows which begins with the right kind of consonant.  Thus / d / is
elided in friends, and may optionally be elided in friendly.  What about these words?

friendship _________
blindness _________
childless _________
worldly _________
handful _________
child’s play _________

The past-tense suffix < -ed > is pronounced / d / after voiced consonants other than / d / itself
(see Transcribing English Words, p 40).  If the immediately following word begins with a
consonant that causes elision, then the past tense suffix itself is elided.  This means that the
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verb actually loses its tense marker; again, native English speakers do not appear to be
particularly bothered by this, since there will probably be enough in the context to indicate
which tense is intended.  So, for example, in I warned them, the conditions are right for
elision to take place, leaving the spoken equivalent of I warn them.  Naturally, a person may
decide to make the suffix noticeable by articulating the / d / in an exaggerated way, but this is
not normal in most ordinary, typical, informal colloquial speech.  Transcribe the following as
in this informal colloquial style:

I warned them _________
and called them _________
and told them off _________

*
Now, the elision of / t /. Just as / t / has been elided in Christmas, and also in words like
castle, listen, whistle, wrestle, soften, it is also elided in postman, facts, vastness.  Some
people, but not all, elide the / t / in often: / !Pes?m+ !Pe?m ..  Otherwise, it appears to parallel
the case of / d / elision, but the preceding consonant must be voiceless in the case of / t /
elision.  Thus, / t / is elided in

facts . !ezjr . but not in faults
instincts . !HmrsHMjr . but not in intends
vastness . !u@9rm?r . but not in pleasantness

Transcribe
soft spot !rPe !roPs
lost cause _________
left foot _________
vast spaces _________
apt remarks _________
Act Three _________
just now _________
best thing _________

As with / d /, elision does not occur if the following consonant is / h /.  Note the difference
between West Bromwich and West Ham.  Elision does not take place in

gift horse !fHes $gN9r
guest house _________
left hand _________

and is optional if the approximants / r, w /, or / l / follow
last rites _________/_________ soft landing _________/_________
left wing _________/_________ gift wrap _________/_________
guest list _________/_________ wrist watch _________/_________

If / j / follows, either elision takes place, or assimilation to / sR /
last year !k@9R i29  nq  !k@9RsR i29
cost unit _________/_________
lost youth _________/_________
West Yorkshire_________/_________

If a suffix follows which begins with the right kind of consonant, then / t / is elided/  Thus / t /
is elided in swiftness and may, optionally, be elided in swiftly.  What about these words?
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rafts _________
ghostly _________
listless _________
softness _________
gift’s value _________

The past tense suffix < -ed > is pronounced / t / after voiceless consonants other than / t /
itself (see Transcribing English Words, p 40).  If the immediately following word begins with
a consonant that causes elision, then – just like the case of / d / - the / t / suffix is elided.  This
means that in a case with past tense, like  I washed them, where the conditions are right for
elision, then it will sound exactly like the spoken equivalent of the present tense, I wash them.
Transcribe the following in an informal colloquial style:

I left my friends _________
crossed the street _________
and passed the shops _________
but then lost my way _________

Notice that / t / does not readily get elided if it would otherwise bring two / s /s together at the
end of a word:

boasts    !a?Trsr
costs _________
feasts _________

Nevertheless, / t / is elided in these cases:
first serve !e29r !r29u
most surprising_________
lost soul _________

*
Elision, in English, mainly involves final / t, d / when preceded by a consonant (a voiceless
one in the case of / t /) and followed immediately by a word beginning with certain
consonants.  It also happens regularly to the / k / of ask when followed immediately by any
elision-inducing consonants.  All the features of  / t / elision apply:

Ask me a question
He’ll ask them each a question
They asked a question

Note the double elsion that takes place in
They asked me a question

but / k / is not elided if it would bring two / s /s together:
She always asks many questions

and may happen in
She’ll ask loads of questions

/ k / elision is restricted to the verb ask, no doubt because it is used so frequently.  It does not
happen in words like risk, eg risked, or task, eg task force.

There are certain other cases of elision as a consequence of rhythm, but they will be dealt
with in Part 2.
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Epenthesis

Having considered elision – the loss of a sound – as a process of simplification, it might seem
strange to consider the addition of a sound as another way of simplifying pronunciation.  But
there are some such cases in English.

Consider the word young.  Its final consonant is a voiced velar nasal / M /.  Now consider the
derived form youngster.  You will notice that the ending begins with / s /, a voiceless alveolar
fricative.  In every respect, the / s / articulation is different from the / M / articulation.  / s / is
voiceless, /  M  / is voiced; / s / is oral, in the sense that the soft palate is raised, / M / is nasal,
with the soft palate lowered; / s / is fricative, with a partial closure in the mouth, / M / requires
complete closure; and / s / is alveolar, with the blade of the tongue against the teeth ridge,
/ M / is velar, with the back of the tongue against the soft palate. Thus, the transition to / s /
from / M / involves four changes: at the vocal folds, with the soft palate, with a different
degree of closure with a different part of the tongue.  In careful speech, it is quite possible to
synchronize all these movements, but many people in ordinary, typical, informal colloquial
speech do not.  What happens in their case is that the changes at the vocal folds and with the
soft palate are engaged first, and then the tongue ‘catches up’ afterwards.  In other words, the
transition from / M / to / s / is staggered, with the result that an extra – transitional – sound is
produced.  That transitional sound has the voicelessness and ‘orality’ of / s / but the tongue
position of the / M /, and is thus identical to the articulation of the English consonant / k /.

       M k s
unhbdc        ß--- uoiceless
Nasal        ß--- nral
Closed ---à ericative
Velar ---à `lveolar

This explains why many people, who do not synchronize all four changes, insert an
additional, transitional, / k /: / !iUMjrs? ..  This process of adding, or inserting, an extra
transitional sound is known as epenthesis.

Transcribe the word gangster in two ways: _____________     ______________

A parallel process of epenthesis happens in hamster:

M p s
Voiced         ß-- uoiceless
Nasal         ß-- nral
closed ---à ericative

Bilabial ---à `lveolar

Try and pronounce hamster in these two ways, and transcribe each: ______________
______________ .  (Epenthesis explains why hamster is sometimes mis-spelt as hampster!)

A third parallel case of epenthesis happens in monster. Although / n / and / s / share an
alveolar point of articulation, the tongue changes from a flat ‘broad’ contact to a grooved
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shape. As in the other transitions, the tongue movement may lag behind, leaving the flat
‘broad’ contact fractionally longer; this helps to produce a transitional /t/.

N
Voiced

t
ß--

s
voiceless

Hard         ß-- nral
Closed

Flat
---à
---à

ericative
frooved

  Try and pronounce monster in these two ways, and transcribe each: _________________
_______________ .

This process of epenthesis in English happens whenever a nasal sound is followed by a
voiceless fricative, as long as the voiceless fricative is not part of a stressed syllable.

Consider the sequence of nasal + / S /; transcribe these words with and without appropriate
epenthetic consonants:

warmth ____________ ____________
tenth ____________ ____________
millionths ____________ ____________
length ____________ ____________
strength ____________ ____________

In the case of length and strength,  an alternative process of simplification is possible for
some speakers, the process of assimilating the / n / to / M /: / !kDmS /, / !rsqDmS /.  But then the
conditions are right again for epenthesis: / !kDmsS /, / !rsqDmsS /!

Consider also the sequence of / n / + / s /; transcribe these words with and without epenthetic
/ t /:

dense ____________ ____________
chance ____________ ____________
prince ____________ ____________
once ____________ ____________
patience ____________ ____________

Notice then that the pronunciation with epenthetic / t / becomes a homophone with the plural
forms:

dents
chants
prints
wants
patients

a point which is not lost in jokes, eg about the doctor who lost his patience / patients!
Try triumph, triumphal, triumphant without, and with, epenthetic / p /.  What about
circumference?

Finally, consider the sequence of nasal + voiceless fricatives in names.  The son of Sam is
either Samson, or Sampson - with epenthetic / p /; similarly Simson and Simpson, Thomson
and Thompson.  Epenthetic / p / has been realized historically in the place names Hampstead,
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Hampton, Hampshire, Kempton.  Epenthetic / t / and / k / is often pronounced (but not spelt)
in names like Benson, Hanson, Johnson, Langton, Langford.

Liaison

Liaison is another process which involves the addition of a sound.  In this case, a speaker
inserts a sound in order to ease the link between vowels at the end of one word and at the
beginning of an immediately following word.

The most well known case involves a historical < r > at the end of a word.  In most British
accents, the < r > in a word like here is not pronounced if there is either a consonant
following in the next word, or silence.  But if the immediately following word begins with a
vowel, the < r > does get pronounced: here in Britain / !gH?q Hl !aqHsm< ..  Such an / r / is
traditionally known as a ‘linking / r /’, as speakers use it to link up the end of one word with
the beginning of the next.  Here are some more examples:

far !e@9 far away !e@9q ?!vdH
near ____________ near enough ____________
there ____________ there on the floor ____________
floor ____________ next floor up ____________
stir ____________ stir in ____________
ever ____________ ever after ____________
more ____________ more examples  ______________

Notice the kind of vowel that occurs in the first column: . @9+ H?+ D?+ N?+ 29+ ? ., all relatively
open or mid, and back or central/centring.  It is now very common for native English
speakers to add / r / to any word ending in these vowels when the immediately following
word begins with a vowel – even if there is no ‘historical’ / r /  in the spelling.  There was, in
the 1960s and 70s, a fierce controversy as to whether this ‘non-historical’ / r / liaison was
acceptable in contemporary Received Pronunciation, but it is now widely heard and accepted
as a current form, based on the analogy of the ‘linking / r /.  But because of that controversy,
this ‘non-historical’ case is usually referred to as the ‘intrusive / r /’.  Here are some
examples:

spa !ro@9 the spa is open C? !ro@9q Hy !?To?m
media __________ media operation ____________________
law __________ law in Scotland ____________________
milieu __________ milieu in society ____________________
Laura __________ Laura Ashley ____________________

Although the ‘intrusive / r /’ is added on the analogy of the ‘linking / r /’, it is basically an
identical process of liaison, easing the link between two vowels across a word boundary.

*
If a word ends in the vowels / h9+ h+ dH+ `H+ NH /, some speakers use / j / to link them to a vowel
at the beginning of an immediately following vowel.  And if a word ends in the vowels
. t9+ t+ `T+ ?T /, a / w / is often used to produce a similar link.  Here are some examples:

see rh9 see off !rh9i !Pe
stay __________ stay out ______________
high __________ high over ______________
toy __________ toy animals ______________
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the end ______________

new __________ new information  ____________
no __________ no idea ______________
how __________ how about ______________

to end ______________
Liaison with / r, j, w / - the three approximants – eases the link between any final vowel and
any vowel at the beginning of an immediately following word.  It is thus another type of
simplification process.

*
We have now covered all four of the processes of simplification that native speakers of
English employ in ordinary, typical, informal colloquial speech.  And we have transcribed
plenty of examples of each type.  But it must also be emphasized that this survey of
simplification processes applies to English, and not necessarily to other languages.  Other
languages may have processes that are parallel to the English ones, but they may very likely
employ fewer, or different, or more processes than English does.

Remember too, native speakers have the option of not employing these simplification
processes, especially in a slow, deliberate style.  Imagine, for instance, the opening
announcement at a seminar.

Today our subject is Anne Boleyn .---!zm aT!kHm .
and compare it with a less formal style in a following statement of explanation

As you know Anne Boleyn . !zl aT!kHm . was Henry VIII’s second wife

Transcribe these names and places in this less formal style
John Bull Raymond Baxter African Queen
John Paul Chris Jones American Beauty
John Milton Liz Yates Shakespeare in Love
John Calvin Leeds United Grand Canyon
Ben Gunn Arthur Askey Rift Valley
Gordon Brown Roger Ellis Amazon Basin
Robin Cook Barbara Edwards East Timor
Colin Powell Sarah Armstrong West Virginia
Martin Bell Old Trafford
Ann Clwyd Ironbridge
Republican Party River Avon
Republican Guard Avon Gorge
Don Quixote
Catherine Cookson
Don Bradman
Colin Cowdrey
Ian Botham
Ryan Giggs
David Beckham
Richard Burton
Bernard Matthews
Ronald Reagan
Bertrand Russell (see Key)
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Part 2:  Rhythm

Just as words have stress patterns, so do phrases.  Indeed, some words and phrases have
identical patterns, for instance, inaction and in action .Hm!zjR?m ., even indeed and in deed
.Hm!ch9c .-

In ordinary, typical, informal colloquial speech, it is usually the lexical items – the nouns,
verbs, adjectives and most adverbs – that are given prominence by assigning them their full
stress pattern.  On the other hand, the grammatical items – prepositions, conjunctions,
determiners, pronouns and auxiliary and modal verbs – are ‘de-stressed’ unless they become
important in a given message.  Many of these grammatical items are short monosyllabic
words which can be said quickly in any case.  For instance, the word in is said just as quickly
in the phrases in action and in deed as the prefix in- in the words inaction and indeed.  In the
case of in as a whole word, it is not only short and monosyllabic, but it also contains a vowel
that is potentially weak.

In our practice of the effects of rhythm in the pronunciation of phrases in English, we will
concentrate on the grammatical items and begin with the prepositions.

Prepositions

Prepositions have full forms and weak forms.  Strong forms are used for emphasis or contrast
and when they occur at the ends of clauses:

Where are you flying to / tt9 .
And travelling from       / eqPl /
Which hotel are you staying at / zs /
How long are you going for / eN9 /

But in ordinary prepositional phrases, they are usually unstressed.
I’m flying to / s? / Glasgow

    on . Pl . Monday
from / eq?l / Gatwick

                         with / vHC / a budget airline
     staying at / ?s / the ‘Old Barn’

                             in . Hm . sgd bhsx bdmsqd
   for / e? / the weekend

Notice that the vowel in some prepositions changes to a weak vowel, like from . eq?l . and
at  . ?s .+ but in others like on, with, in it does not.  In the case of to, the vowel changes to the
neutral vowel if a consonant follows immediately, or to the weak vowel / tu / before a vowel.
In the case of for, the vowel changes to the neutral vowel, but a ‘linking / r /’ is added as
liaison before a following vowel.  Now try these examples

Flying to _______ San Fransisco
       from _______ Birmingham
staying at _______ the ‘Old Castle’
          for _______ two weeks

Flying to _______ LA  (. !Dk !dH .(
       from _______ Manchester
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staying at _______ the ‘Old Lodge’
                     for ________ a few days

The preposition of has a strong form: / Pu / for emphasis, contrast and the end position of a
clause, eg.

What’s he thinking of   / Pu /
and a weak form when unstressed / ?u /

Thinking of / ?u / his holidays
Transcribe:

What does his plan consist of ______
A week of _____ sun in the south of ______ Spain, then climb to the top of ____ the

Rock of _____ Gibraltar then a month of _____ hiking along the coast of ____ North Africa.

The weak form is also often pronounced with / v / elided, reducing it to / ? /.  Historically,
this is what has happened in telling the time, eg 2 o’clock / !st9 ? !jkPj / for the older 2 of
(the) clock.  It is also what has happened in phrases like a cup of tea becoming a cuppa
.!jUo? ..  An old advert to encourage the drinking of milk was

Drinka
Pinta (= a pint of)
Milka
Day

Popular spellings of kind of and sort of  as kinda, sorta display the same observation.
You sort of  . !rN9s ? . try
It’s kind of  . !j`hmc ? . nice

Transcribe the following in two ways
a cup of ________ / ________ coffee at 11 o’_____ clock
a cup of ________ / ________ tea at 4 o’_____ clock
a pint of ________ / ________ beer at 8 o’ _____ clock
a packet of ______ / ________ crisps at the end of _____ / _____ the day

None of the other prepositions have special weak forms with a change of vowel, they are
transcribed with a stress mark if stressed, and without it if unstressed.

We’re going through . Sqt9 . France. I said We’re going through . !Sqt9 . France, not
to / !st9  / France
and we’re going for / e? / two weeks, not in / !Hm / two weeks.
And you need to check your passport before / aH!eN9 /, not after / !@9es? /.

Transcribe:
single to ______ Liverpool please
The 8.25 for ______ Manchester will be leaving from ______ Platform 1
Change at _____ Crewe for _____ all stations to _____ Liverpool Lime Street
We apologize that there’ll be a delay of _____ ten minutes.

Conjunctions

The most common conjunction is and.  As we have already noted, its full form is / !zmc / and
its most frequent weak form is / ?m /.  The / n / of its weak form is vulnerable to the process
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of assimilation, as in bed and breakfast / !aDa l< !aqDje?rs /. Transcribe these orders for
breakfast:

fruit and _____ breakfast cereals
muesli and _____ cornflakes
eggs and _____ bacon
toast and _____ marmalade
tea and _____ coffee

If the conditions are right, the / n / may give way to a syllabic / m< / (or / l< /, as in bed and
breakfast, or / M< /). Transcribe these suggestions for lunch:

bread and cheese ________________ soup and bread _______________
omelette and chips ________________ roast pork and gravy _______________

     cake and cream _______________

*
The conjunction or  usually remains unchanged when unstressed, except in a few set phrases.
When a genuine choice or alternative is being offered, the conjunction remains as / N9 / with
the possibility of / r / liaison as in

choice or / N9q / alternative
Notice the full form in:

brown bread or ______ white
tea or _____ coffee
with or _____ without

but in set phrases like one or two, the conjunction may be reduced to / ? /.  Compare
How long are you staying?  Two or / ? / three days
Well, is it two or / N9 / three days.
Well, when we’ve more or / ? / less finished.

Similarly, with nor.
He’s not staying, and nor / mN9q / are you
A day or / ? / two is neither here nor / m? / there

*
The conjunction but / aUs / is weakened to / a?s / when unstressed. In these it is unstressed:

The weather will be dry but / a?s / cold
                                             wet but ____ mild
                             warm at first, but  ____ cold later

You should be all right, but  ____ take an umbrella just in case

*
The conjunction as / zy / is weakened to / ?y / when unstressed

They were as .?y . snug as  ____ a bug in a rug
                              as ____ warm as ____ toast

                  as ____ dry as    ____ possible
The / z / is susceptible to the process of assimilation

Take as ____ much as ____ you like
(If you in this context is unstressed, the / j / will be elided: / ?Y t /: but if you is stressed, the
. i . is retained: ..... as you .--- ?Y !it9 . think best.)
As at the beginning of an utterance is usually strong: As . zy . I came to work today
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*
The conjunction because has a strong form / aH!jPy / and a weak form when unstressed:
. aHj?y .- At the beginning of an utterance, it is usually strong:

Because / aH!jPy / it’s raining, we’ll stay inside
We can go out now, because / aHj?y / it’s stopped

The weak form can be further weakened to a single syllable: / j?y /, popularly spelt as cos:
Let’s go out, cos / j?y / it’s stopped raining

The final / z / is susceptible to the process of assimilation
We’re going out, cos / j?Y / you said we could

(The / j / of you would be elided if unstressed.)
The weak forms of because are valid too in the phrasal preposition because of.

We stayed in because / aHj?y / of / ?u / the rain
We stayed in cos / j?y / of / ?u / the rain

*
The word that is usually pronounced in a weak form / C?s / when it operates as a relative
pronoun or conjunction, as in

The weather that / C?s / was forecast
They said that _____ it would be wet
Now that _____ it’s stopped .....

The word that is usually pronounced in its strong form / Czs / as a demonstrative adjective or
pronoun

It rained throughout that / !Czs / day
So that / !Czs / was that / !Czs /
It was that / !Czs / wet

Transcribe
That ______ man said that _____ all that _____ rain that _____ fell yesterday
was enough to fill that _____ reservoir that _____ we saw.

*
Finally, the conjunction than is usually pronounced in its weak form / C?m /

Wetter than . C?m . yesterday
More rain than _____ ever
Rather go abroad than _____ stay here

*
None of the other conjunctions have special weak forms with a change of vowel; they are
transcribed with a stress mark if they are stressed, and without it if unstressed:

I said if / !He /
            if / He / you like

While / !v`Hk / it’s raining let’s play Monopoly
Let’s play Monopoly while / v`Hk / it’s raining
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Determiners

The determiners that have special weak forms are the definite and indefinite articles and the
possessive adjectives.

The definite article the has a special strong form: / !Ch9 /, as in
Spain is the / !Ch9 / place for sun

It also has an ordinary strong form: / !C? / as in
The definite article is the / !C? /

(This is one of  only two occasions in Southern English Standard Pronunciation (‘RP’) when
the neutral vowel is stressed.)
It also has two weak forms: / C? / before consonants, / Ch / before vowels, as in

The / C? / definite article
The / Ch / articles

Transcribe the following:
The weather __________ The umbrella __________
The rain __________ The ice __________
The morning __________ The afternoon __________
The night __________ The evening __________
The hotel __________ The hour __________
The usual __________ The unusual __________

*
The indefinite articles have strong forms: / dH / before consonants, / zm / before vowels.

I said an / !zm /  egg, not half a dozen
At least you’ve a / !dH / drink, even if it’s not what you ordered

The corresponding weak forms are / ? / and / ?m /
Transcribe

a coffee __________ an ice-cream __________
a banana __________ an apple __________
a hostel __________ an inn __________
a useful thing __________ an ugly scene __________

*
The word some is used for indefiniteness with mass nouns like milk.  Its strong form is
/ rUl / and its weak form is / r?l /.

At least you’ve got some / !rUl / milk
I need some / r?l / more milk

Transcribe these phrases with both the strong and the weak forms
Some sugar _____ / _____  ________
Some money _____ / _____  ________
Some change _____ / _____  ________
Some time _____ / _____  ________

*
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Any and  many have the same form in both stressed and unstressed situations:
I haven’t had any  / !Dmh / sugar
I haven’t had any / Dmh / sugar
They’ve been many / !lDmh / times
I don’t have many / lDmh /  ideas

But there is the possibility of weak forms in common phrases: / ?mh / and / l?mh / as in
I haven’t any / ?mh / left
How many / l?mh / do you need

*
The demonstrative adjectives are this / CHr /, that / Czs /, these / Ch9y /,  and those . C?Ty .-
They do not change in unstressed positions: it is in this respect that it is important to
distinguish between that as a conjunction which regularly weakens to / C?s / and that as a
determiner that remains in its strong form.

Notice how the final / s / of this, and the final / z / of these and those are susceptible to the
process of assimilation.

What are you going to do with all these euros? . Ch9Y . __________
                                                       this cheque? ________________

                   those shorts? ________________

*
The possessive adjectives are my / l`H /, your / iN9 /, his / gHy /, her / g29 /, its / Hsr /, our
. `T? ., their / CD? / and whose / gt9y /.  Strong forms are used for emphasis or contrast.
My and their do not normally have a weak form:

Hey, that’s my / !l`H / sun cream, my _____ towel, my _____ place
Now, let me think.  I’ve got my / l`H / wallet, my _____  passport, my _____ ticket
and my _____ insurance.

Our is often weakened to / @9 /, with / r / liaison:
We’re off on our / @9 / holidays
Our . @9 . Father

Your is often weakened to / i? /, with / r / liaison – hence its popular spelling as yer
Off on your / i? / holidays, are you?
On your / i? / bike?  On your / i?q / own?

His, her and whose have weak forms with / h / elision if immediately preceded by a word
What’s his / Hy / name? I don’t know his / Hy / name
What’s her / 29 / name? I don’t know her / 29 / name
The couple whose / ty / names I’ve forgotten
I don’t know whose / ty / tickets  these are

If they begin a new utterance, the / h / is usually pronounced.
Whose / gt9y / tickets are these?
His / gHy / name is Paolo
Her / g29 / name is Michaela

*
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Most titles are stressed:
Mr / !lHrs? / Smith  Mr / !lHrs?q / Evans
Mrs / !lHrHy / Smith  Mrs / !lHrHY / Jones
Miss / !lHr / Smith  Miss / !lHY / Jones
Ms / !l?y / Smith  Ms / !l?Y / Jones (NB the only other occasion for . !? ..)
Master / !lzrs? / Tom Master / lzrs?q / Edward
Baroness / !azq?m?R / Young
President / !oqDyHcm<s / Eisenhower
Queen / !jvh9m / Elizabeth
Prince / !oqHmr+ !oqHmsr / Philip

but some other monosyllabic titles are often unstressed:
St / r?ms / Andrew
Sir . r? . Winston Sir . r?q . Anthony

Pronouns

The subject pronouns are I / `H /, you / it9  /, he / gh9 /, she / Rh9 /, it / Hs /, we / vh9 / and they
. CdH .; the object pronouns, where different, are me / lh9 /, him / gHl /, her / g29 /, us . Ur .
and them . CDl ..  The relative pronouns are who . gt9 ., and, possibly, whom . gt9l .: `nd
the possessive pronouns are mine . l`Hm ., yours . iN9y ., his . gHy ., hers . g29y ., ours
. `T?y . (or . @9y .), theirs . CD?y . and whose . gt9y ..  These strong forms are used for
emphasis or contrast; there are weak forms for many of them in unstressed positions.
However, the possessive pronouns are not normally used in unstressed positions.

The weak forms of he, she, we, me all take a weak vowel
He / gh / told me / lh /, so we / vh / know she / Rh / is going to Spain

The weak forms of us and them take the neutral vowel
They told us / ?r / that you saw them / C?l / on their way

A special case arises with let’s . kDsr .  as distinct from let us  .kDs ?r .. Compare let’s go and
let us go.
The weak forms of he, him, her and who tend to ‘suffer’ / h /-elision unless they begin a new
utterance.

he / gh / has heard, but does he / h / understand
Well, I told him / Hl /
Will he / i / let her / 29 / know
She’s the one who / u / will understand

You, is weakened to / ju / or even – like your  - to / i? /, especially in comment phrases like
you know, you see; but also consider

Are you / i? / going today
We’ll see you / i? / there

The / j / is susceptible to coalescence immediately after / t, d /
We’ll meet . !lh9sR ? . you there
We’ll need you . !mh9cY ? . there
Did you / !cHcY ? / go
Must you . !lURsR t .

*
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Finally, there is the pronoun one . vUm+ vPm /.  In an unstressed position, it generally keeps
its strong form:

One .vUm+ vPm . must not lose one’s  . vUmy+ vPmy . head, must one . vUm+ vPm .
I’d like one / vUm+ vPm . of the red ones

There is a weak form that is occasionally used: / ?m /, popularly spelled as ‘un
The little ‘uns / ?my /

Auxiliary verbs

The auxiliary verbs be, have and do and their various forms are used in verb phrases to
indicate aspect, emphasis and contrast, and to operate negative and interrogative functions.
There are strong forms and weak forms for each verb.  Each of these verbs also acts as a full,
lexical verb, in which case, they will normally be pronounced in their strong forms, eg

To be / !ah9 / or not to be / !ah9 /
To have / !gzu / and to hold
To do / !ct9 / or die

As auxiliary verbs, they are stressed for emphasis or contrast, but are unstressed otherwise:
To see and be . !ah9 . seen You won’t be / bi / seen
To fight and to have . !gzu . fought You must have / ?u / fought
Do . !ct9 . take a seat Where do / du / I sit?

*
Be

I am / !zl / going
Am  is weakened to / ?l / after a consonant, eg Where am / ?l / I staying?
and to / m / after a vowel, eg I’m / m / staying here

You are . @9 . going; with / r / liaison: You are . !@9q . invited
Are is weakened to / ? /, eg All the boys are / ? / going
with / r / liaison,     eg All the boys are / ?q / invited
Are may be weakened to / r / following a vowel:

You’re invited / iN9 q+ i? q .
They’re invited / CdH q+ CD? q /

He is / !Hy . going
Is is weakened in a way parallel to the morphological variations of the < -es > inflection
(Transcribing English Words, p 41)

James is / Hy / going, and Janice is / Hy / too                (/ Hz, ?y / after sibilants)
John’s / z / going, and Claire’s / z / thinking about it (/ z / after other voiced sounds)
Jack’s / s / going, but Elizabeth’s / s  / not                  (/ s / after voiceless sounds)

He was / !vPy / going
Was is weakened to / v?y /

Sarah was / v?y / going too, and so was . v?Y . Judith

They were / !v29 / going
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Were is weakened to / v? /, with possible / r / liaison
None of them were / v? / going, even though they were / v?q / all invited

I’ve been   . !ah9m . invited already
Been is weakened to / aHm /

Just think, we’ve all been / aHm / invited

*
Have

I have . !gzu . seen it
She has . !gzy . seen it
They had . !gzc . seen it

Have, has, had ‘suffer’ / h / elision in their weak forms unless they begin new utterances:
Have / g?u . you seen it
Has / g?y / he seen it
Had / g?c / they seen it

Otherwise the weak forms retain the neutral vowel after a consonant, but lose it after a vowel:
Yes, I’ve / v / seen it, and the boys’ve / ?u / seen it too
Yes, he’s / z / seen it, and Janice’s / ?y / seen it too
Yes, they’d / d / seen it, and the girls’d / ?c / seen it too

Has also follows the morphological variations of the < -es > inflection, like is:
James’s gone / ?y /
John’s gone / z /
Jack’s gone / s /

*
Do

I do / !ct9 / believe in God
Do is weakened to / du / or / c? /:

Do / ct+ c? / they believe in God
Do . ct+ c? . you  believe too

She does  / !cUy / believe in God
Does is weakened to / c?y /:

Does / c?y / he believe too
Note that in do you . c? it ., the neutral vowel is often elided, allowing a process of
coalescent assimilation to take place: / dju / becomes . cYt . (or / cY? /).

How do you do? / !g`T cY? !ct9 /
What do you think? / !vP> cY? !SHMj /
Do you really believe / cYt !qH?kh a?!kh9u /

Modal verbs

Modal verbs add degrees of a sense of likelihood, necessity and possibility to the verb phrase.
They include

can / jzm / and could / jTc /
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may / ldH / and might / l`Hs /
shall / Rzk / and should / RTc /
will / vHk / and would / vTc /
must / lUrs / and ought / N9s /

They are pronounced in these full forms when stressed, especially for emphasis or contrast:
Can / !jzm / you speak Spanish?  I can / !jzm / and I will / !vHk /
But what about Catalan?  I would / !vTc / if I could / !jTc /

May, might and ought  do not have special weak forms when unstressed, but the other modal
verbs do.

She can / j?m / speak Spanish quite well.
She could / j?c / have said that in Spanish for you.
We shall / R?k / see if she can . !jzm .
They should / R?c / tell her to come
How will / v?k / they know you’re going
We would / v?c / have to tell them
She must / l?rs / at least be given a chance
Yes, she must / l?r / be given the chance at least

Will and shall are both regularly reduced to / l / or / ?k /; and would and should to / d / or
. ?c .; thus the semantic differences between them are lost.

We’ll / l / see tonight
If she’d / d /  talk in Spanish, that’d / ?c / help us a lot
Otherwise, Paul’ll / ?k / try

Final / d / of could, should, would and had, like did, is susceptible to the processes of
assimilation.

They could / !jTf . go, if they could / j?a / manage without her
They should . !RTa . be able to manage
They would . !vTa . be able to manage if she went with them
She’d / f . go with them, but would  you / !vTcY t . let her
Had you / !gzcY t . thought of going yourself
How would you / v?cY ? . feel about that

Just, Not, So, There

The first three of these words figure regularly in all kinds of phrases and idioms, and no
doubt it is because of their frequency that they have acquired weak forms, in addition to their
strong forms

They’ve just . !cYUrs . arrived,  just .!cYUr . this minute
Not / !mP> . bad, but they’ll be so . !r?T . tired

Oh, we’re not so . r? . bad, thank you.  We weren’t / !v29ms . held up anywhere;
just / cY?r . glad to be back

There has a special weak form in existential clauses, in contrast to locative senses:
It was nice being there / !CD? ., but there’s / C? y . no place like home
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There is a further complication in the pronunciation of n’t.  We have already noted that final
/ t / is now often articulated as a glottal stop [ > ] before any immediately following
consonant (except / h /).  This would account for

I don’t know / `H !c?Tms !m?T . or / `H !c?Tm> !m?T .

The Z > \ would, however, not prevent the processes of assimilation operating in informal
colloquial speech, so these alternatives exist:

I don’t believe it /`H !c?Tms a?!kh9u Hs / or / `H !c?Tlo a?!kh9u Hs . 
I don’t get it / `H !c?Tms !fDs Hs / or / `H !c?TMj !fDs Hs .
Why don’t you / waH !c?Tms it . nq / waH !c?TmsR t .

The same kind of alternative pronunciations operate with
aren’t : we aren’t going / vh !@9ms f?THM . nq / vh !@9Mj f?THM . 
isn’t : it isn’t possible . Hs !Hy?ms !oPrHa?k . nq / Hs !Hy?lo !oPrHa?k . 
wasn’t: he wasn’t paying / gh !vPym<s !odHHM . nq / gh vPy?lo !odHHM .
vdqen’t: we weren’t kept / vh !v29ms jDos . nq / vh !v29Mj jDos . 
haven’t: I haven’t said / `H !gzu?ms !rDc . nq . `H !gzu?m> !rDc . 
hasn’t: she hasn’t complained / Rh !gzym<s j?l!okdHmc .or / Rh !gzy?Mj j--- .  
hadn’t: it hadn’t come / Hs !gzcm<s jUl . nq . Hs gzfM<j jUl . 
doesn’t : he doesn’t know / gh !cUym<s m?T . nq / gh !cUym<> m?T .
didn’t : they didn’t believe him /CdH !cHcm<s a?!kh9u Hl . nq / CdH !cHal<o a?!kh9u Hl .

can’t: I can’t be bothered / `H !j@9lo ah !aPC?c . or / `H !j@9l> ah !aPC?c . 
couldn’t : he couldn’t be  /gh !jTcm<s ah . or / gh !jTal<o ah .
shan’t: we shan’t go / vh !R@9ms f?T . nq . vh !R@9Mj f?T . 
shouldn’t : you shouldn’t go / it !RTcm<s f?T . nq / it !RTfMj f?T . 
won’t: you won’t make it / ju !v?Tms !ldHj Hs . nq / ju !v?Tlo !ldHj Hs . 
wouldn’t: they wouldn’t mind /CdH !vTcm<s !ldHj Hs .  nq / CdH !vTal<o !ldHj Hs . 
mustn’t: you mustn’t come / it !lUrm<s !jUl . nq / it !lUr?Mj !jUl . 
mightn’t: he mightn’t think / gh !l@hsm<s SHMj . or / gh !l@hsm<> SHMj . 
oughtn’t: they oughtn’t to / CdH !N9sm<s st .  or / CdH !N9sm<> st .
needn’t: you needn’t bother / it !mh9cm<s !aPC? . nq / it !mh9al<o !aPC? .
daren’t : she daren’t move / Rh !cD?ms !lt9u . nq . Rh !cD?lo !lt9u . 

If this wasn’t complicated enough, it is also observable how people are simplifying some of
these phrases even further.  If the n’t follows a vowel, the / n / can change to a nasalization of
that vowel and the / t / to a glottal stop.

I don’t [ !c?}T}> ] know
I can’t [ !j@}9> ] believe it
They aren’t [ !@}9> ] going
We weren’t [ !v2}9> \  kept
We shan’t [ !R@}9> ] go
You won’t [ !v?}T}> ] make it
She daren’t [ !cD}?}> ] move
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Finally, to add yet further to these complications, people very often simplify in another way
by eliding the / t / of n't, even though it is preceded by a voiced sound  / n /:

I don’t know  / `H !c?Tm !m?T . nq dudm . `H c? !m?T . (= I ‘dunno’)
I don’t care . `H !c?TM !jD? .
we won’t bother . vh !v?Tl !aPC? .
you didn’t say . it !cHcm< !rdH .
etc

A similar process of elision explains how want to and going to get pronounced
I want to go (I ‘wanna’ go)     . `H !vPm? !f?T .
I’m going to go (I’m gonna go)  . `Hl !fPm? !f?T .

To summarize this complex range of possibilities, cases of n’t immediately after a vowel (as
in aren’t, weren’t, don’t, can’t, won’t, shan’t, daren’t) can be pronounced as follows:

Don’t talk:  . !c?Tms .+ . !c?Tm> .+ Z !c?}T}> \+ . !c?Tm .
Don’t push . !c?Tms .+ . !c?Tlo .+ Z !c?}T}> \+ . !c?Tl .
Don’t go    . !c?Tms .+ . !c?TMj .+ Z !c?}T}> \+ . !c?TM .

Most of these possibilities are also valid for other words ending in / -nt /: however, the
. s . element is usually retained whether it is realized as Z s \ nq Z > \ or assimilated:

pleasantness  . !okDym<sm?r+ !okDy?m>m?r . 
resentment . qH!yDmsl?ms+ qh!yDlol?ms . 
pleasant places . !okDym<s+ !okDy?lo !okdHr?y .
recent case   . !qh9rm<s+ !qh9r?Mj !jdHr?y .
front page . !eqUms+ !eqUlo . nq Z !eqU}> \ . !odHcY .
front cover . !eqUms+ !eqUMj . nq Z !eqU}> \ . !jUu? .

In all these cases of  n’t and final –nt, you have to listen carefully to what is actually said; and
being aware of the various possibilities will help to discern that. In such cases, it seems worth
while transcribing a glottal stop as such, [ > \, even though strictly speaking, it does not
belong to phonemic transcriptions.

Syllable elision in lexical items and phrases

The pressure from rhythm accounts not only for the proliferation of special weak forms of
many grammatical items but also for the elimination of whole syllables, especially in verb
phrases with auxiliary and modal verbs.  Thus in

I don’t know if he’s coming
the two syllables of do not are reduced to one, don’t, and also the two syllables of he is to
one, he’s.

There has been a similar strong tendency to eliminate syllables in lexical items too, specially
where there is a succession of unstressed syllables separated by /r, l, n /.  Typically, the
unstressed vowel is elided before such a consonant; in this way the syllable sequence is
reduced.  Thus historically, history has changed from / !gHrs?qh / to / !gHrsqh / in most – but not
all – British accents, and secretary from / !rDjq?s?qh /, or . !rDjq?sD?qh .+ to / !rDjq?sqh /.
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Here is a sample list of ordinary words with unstressed < -ar- >, <-er->, <-or->, <-our-> and
<-ur-> which gets eliminated before another unstressed syllable.

stationary stationery category natural
. !rsdHR?mqh . . !rsdHR?mqh . . !jzs?fqh . . !mzsRq?k .
secretary every factory century
primary grocery sensory luxury
secondary delivery memory
tertiary advisory
quandary Everest
ordinary interest temporal neighbouring

doctoral flavouring
estuary average
sanctuary coverage favourable
January camera motoring favourite

opera monitoring

general glamorous
generous humorous
generative

delivering
suffering

Notice how the four syllables of February  . !eDaqt?qh . get reduced to three: . !eDaq?qh,
!eDai?qh ., and even to two / !eDaqh ..  Similarly, library, literary, temporary are sometimes
reduced with the loss of one / r /: . !k`Haqh .+ . !kHsqh .+ . !sDloqh .-

There is, however, usually no reduction in those words where otherwise / l / and / r / would
come together: salary . !rzk?qh ., celery . !rDk?qh /, calorie . !jzk?qh .,
colouring . !jUk?qHM .+ mns ). !rzkqh .+ dsb.

American practice is to give a secondary stress to the < a > in words like primary, secondary;
and primary stress in derived adverbs; many British follow this pattern in the adverbs: thus
primarily  is either . !oq`Hl?q?kh . or / oq`H!lDq?kh . or /  oq`H!lD?q?kh ., or . oq`H!lzq?kh ..
Transcribe the word secondarily in these ways
____________ ____________ ____________ ___________

Similarly, temporarily
____________ ____________ ____________ ___________

A similar kind of reduction takes place where two unstressed syllables are separated by / l /.
Thus, older historically  . gHr!sPqHj?kh . loses the syllable before / l /: / gHr!sPqHjkh .-
Transcribe

technically ____________
scientifically ____________
economically ____________
politically ____________
musically ____________
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A similar loss happens in words like this: carefully . !jD?e?kh . becomes . !jD?ekh .-
Transcribe

hopefully ____________
helpfully ____________
joyfully ____________
usefully ____________
woefully ____________

It also happens in this word: easily . !h9yhkh . becomes . !h9ykh ., and also in words like this:
usually . !it9Yt?kh . becomes /!it9Y?kh / or even /!it9Ykh /.  Transcribe in these two colloquial
styles:

actually ____________ ____________
casually ____________ ____________

The words chocolate  and family are both regularly reduced to two syllables: . !sRPjk?s .;
. !ezlkh .+ `mc uerbs with an unstressed syllable with / l / in final position, followed by the –
ing suffix: travelling . !sqzu?kHM . becomes / !sqzukHM . (see also Transcribing English Words
p 39 for similar cases with syllabic / l /.)

A similar reduction happens when two unstressed syllables are separated by / n /.  For
instance, happening . !gzo?mHM . becomes / !gzomHM /.  Historically, this is what has
happened to evening . !h9umHM ..  Transcribe the more colloquial style of these words

opening ____________
widening ____________
mentioning ____________
functioning ____________
bargaining ____________

Notice also how the three syllables of national and company . !mzR?m?k ., . !jUlo?mh .
become two / !mzRm?k ., . !jUlomh . and how the four syllables of reasonable . !qh9y?m?a?k .
become three / !qh9ym?a?k ., through the loss of the unstressed syllable before / n /.  (In a
similar way the four syllables of comfortable . !jUle?s?a?k . become three / !jUles?a?k /.)

The elimination of a weak syllable in a sequence of weak syllables also takes place across
word boundaries, ie in phrases.  Consider the phrase matter of fact . !lzs?q ?u !ezjs .; there
is a sequence of two unstressed syllables separated by / r / in a way that is exactly parallel in
the case of lexical items like mystery and interest.  What regularly happens is that the
unstressed syllable before / r / will disappear: / !lzsq ?u !ezjs /.  Consider these phrases and
transcribe them in the same colloquial style:

after a while _______________
brother in law _______________
mother and toddlers _______________
doctor in the house _______________
offer advice _______________

and also
travel at night _______________
open at nine _______________
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Finally, it is worth noting that some speakers eliminate an unstressed vowel at the beginning
of certain words before / r, l /, as in correct . j?!qDjs . becoming /  !jqDjs / and collect /
j?!kDjs . becoming . !jkDjs .-  Consider these words and transcribe them in this colloquial
style:

terrific __________
police __________
eleven __________
parade __________
verandah __________

Notice how perhaps . o?!gzor . alternates with / o?!qzor / and then also, more colloquially,
with / !oqzor ..  And the verb suppose . r?!o?Ty / is reduced to / !ro?Ty /, especially in the
phrase suppose so; a popular spelling, s’pose so, reflects this.

Similarly, in phrases with unstressed for and / r / liaison, the neutral vowel before / r / may
disappear; for example, for instance may reduce to two syllables / !eqHmrs?msr . from three
. e?q !Hmrs?msr .- Transcribe in this same colloquial style

for example __________
for everyone __________
for £8 __________
for a minute __________

Phrases and compounds

There are two final matters to consider in the transcription of phrases. One is the contrast that
exists in English between certain phrases and compounds ‘made up’ of the same words. An
easy example to consider is the contrast between a black bird and a blackbird; another is the
contrast between cross words and crosswords. It is worth noting that the adjective-noun
phrases consist of separate semantic entities, that the grammar of the adjective can easily
change (eg blackest birds, or black and white birds), and that they are always spelt as
separate words; in pronunciation, each word in these phrases is then given a primary stress:

.!akzj !a29c., .!jqPr !v29cy..

On the other hand, compounds are single semantic entities; they are single lexical items (eg a
blackbird is a single specific kind of bird, and a crossword is a single specific kind of word
puzzle), and the first element of the compound is unchangeable.In pronunciation, these
factors are recognized by there being only one primary word stress:

.!akzj$a29c.,  .!jqPr$v29cy..

However, there is an inconsistency in English about the way in which compounds can be
spelt: they can be spelt either as a single word, or hyphenated, or with a word space: eg
teatime, tea-time, or tea time. Of course, the pronunciation is the same: .!sh9$s`Hl.- But
spelling can be very deceptive: there is a difference, for instance, between a teacher who
happens to be English and a teacher who teaches English, but both cases would be spelt as an
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English teacher. The first case is a phrase and the second a compound, and although they are
not distinguished in spelling, they are in pronunciation:

as a phrase: .!HMfkHR !sh9sR?.: and as a compound: .!HMfkHR$sh9sR?..

The phrase is parallel to others like an English family, an American preacher, the Black
Prince, etc, each word in each phrase having a primary stress. The compound, on the other
hand, is parallel to other ‘professionals’, like a music teacher, a sports master, a tennis
player, etc; each of these compounds are treated as single entities, and are pronounced with
only one primary stress despite being spelt as if they were two words:

.!lit9yhj$sh9sR?.+ .!roN9sr$l@9rs?.+ .!sDmhr$okdH?.-

Here is another case of a contrast which is awkward to discern; the difference between saying
“uu” (ie double <u>) and “w”.

as a phrase (two semantic entities):     .!cUa?k !it9.
as a compound (one semantic entity): .!cUa?k$it9.

Transcribe the differences between the following pairs:

dark room / darkroom ___________________
green house / greenhouse ___________________
white board / whiteboard ___________________
no body / nobody ___________________
heavy weight / heavyweight ___________________
brother in law / brother-in-law___________________

and these verb phrases / compound nouns

to take away / a take-away ___________________
to pull over / a pullover ___________________
to come back / a come back ___________________
to walk about / a walk about ___________________
to pay off / the payoff ___________________
to look out / a lookout ___________________

This contrast is similar, of course, to the basis of the old jokes involving compounds and
noun-verb sequences, like What made the cow slip? She saw the bull rush! Similarly, the
children’s song When I see an elephant fly:

I’ve seen a horse/dragon/house fly; ..a peanut stand / a baseball bat; I’ve heard a diamond
ring / a fireside chat

Stress shift in phrases

The final matter to consider in the transcription of phrases is the phenomenon known as stress
shift. This concerns those words that have a secondary stress preceding the primary stress, in
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words like fundamental: .$eUmc?!lDmsk<.+ university: .$it9mH!u29r?sh., and adjectival
compounds like brand new: .$aqzm!mit9., and easy-going: .$h9yh!f?THM.- In Transcribing
English Words, p 43,we mentioned that such words generally change their stress pattern in
certain kinds of phrases. If such a word occurs in a phrase with another stressed word
following, the sequence of secondary – primary stress is changed to primary – secondary.

Take the word fundamental again. If it occurs in a phrase with no stressed word following,
like These ideas appear quite fundamental to us, the stress pattern is that given in the
previous paragraph, with the sequence secondary – primary. But if in a different context it
occurs in a phrase which contains a following stressed word, the sequence will be generally
reversed: To us these are fundamental principles, primary – secondary: .!eUmc?$lDmsk<
!oqhmr?o?ky.-

Or take the word university. In the phrase Cardiff University, the stress pattern of university is
secondary – primary, as given above. But in University of Cardiff, with a stressed word
following within the phrase, the stress pattern is reversed: primary – secondary,
.!it9mH$u29r?sh ?u )!j@9cHe.-

Similarly with the adjectival compounds:

Their car is brand new: .$aqzm!mit9. It’s a brand new car: .!aqzm$mit9 !j`9.
He’s pretty easy-going: .$h9yh!f?THM. He needs an  easy-going friend

.!h9yh$f?THM !eqDmc.

The ‘teen’ numbers provide another good case of potential stress shift. Thirteen said at the
end of a phrase has the stress pattern secondary – primary: .$S29!sh9m.+ but when a stressed
word follows in the phrase, the pattern changes:

He’s now 13: .$S29!sh9m. He’s now 13 years old: .!S29$sh9m $i29y !?Tkc.

And all the other ‘teen’ numbers likewise. Consider dates like 1919; the first ‘teen’ number is
followed by a stressed word and so has the pattern secondary – primary, but the second ‘teen’
number is final, and so has the pattern secondary – primary: .!m`Hm$sh9m $m`Hm!sh9m.-

And finally, when compound adverbs like downstairs are used as an adjective with a noun
following, the stress pattern changes too.:

They have a bedroom downstairs: .$c`Tm!rsD?y.
A downstairs bedroom:        .!c`Tm$rsD?y !aDc$qt9l.

They don’t have a toilet inside: .$Hm!r`Hc.
An outside toilet: .!`Tsr`hc !sNHk?s.
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Part 3: Whole texts

We have now covered all the processes of simplification and the effects of rhythm that affect
the pronunciation of phrases in English, and you should now be able to transcribe whole texts
in a typical colloquial style.

First of all, you could try to transcribe the story of Goldilocks in a typical, careful reading
style, as if reading the story to a child.  Guidance is given for each line.

1  Once upon a time epenthesis between /n/ and /s/. Weak form of  a

2  there was a little girl there: existential (weak) or locative (strongl)? was is weak

3  called Goldilocks. look for a case of elision

4  One day both words are stressed

5  she went for a walk in the woods Why is /t/ not elided? Notice /r/ liaison.  What else happens to for?

6  all by herself. her is unstressed, so loses /h/

7  And as she walked down one path And: weak? What happens to the <s> of as ?  One case of elision, another
of assimilation

8 she saw a nice house. NB Intrusive /r/

9 Since she was full of curiosity What happens to final /s/ of since? Was and of are weak

10  she walked close by Do you notice another case of elision?

11  and noticed that the door And yet another case of elision? Is that weak or strong?

12  was a little ajar. Only one stress in this line

13  She knocked but there was no And yet another case of elision?  Four weak words in this line

      reply

14 She called and there was still no Is the <ed> of called elided?
     reply

15  And because she was so curious What happens to /n/ of and, /z/ of because?  Is so weak or strong?

16  she decided to peep inside. Why is the final /d/ of decided  not elided?

17  There she saw a table There:  weak or strong?  Intrusive /r/?

18  and on the table Is on stressed on this occasion?

19  there were three bowls of There:  weak or strong? Were is weak
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      porridge –

20  a big one, a middle-sized one, Note the compound word stress;  and a case of elision?

      and a little one....

21  Again because she was so The /n/ of again does not assimilate because of the pause; but there is a

      curious case of assimilation elsewhere

22  she actually took a spoonful Note the pronunciation of actually
      from the big one

23  but it was too hot But:  weak or strong?

24  So she took a spoonful from the So:  weak or strong? Spoonful is a compound
      middle-sized one See line 20

25  but it was too cold First three words all weak

26  and then she took a spoonful Then is stressed

27  from the little bowl

28  and that was just right That:  weak or strong? Just: weak or strong? Any elision?

29  and she took another spoonful

30  before she realized it Before is stressed. Is the <ed> of realized elided?

31   she had eaten it all up. What happens to had ? NB Syllabic /n/

32   She felt quite full Why is /t/ not elided in felt?

33   and decided to sit in one of the How is the pronounced in this line?

easy chairs

34   There was a big chair There: weak or strong?

35 but it was too hard See line 25

36   There was a middle-sized chair See line 20 again

37   but that was too soft That: weak or strong?  Why?

38   And then there was a little chair Then is stressed

39   and that felt just right See lines 37 and 32, and then 28

40   But she leaned right back A case of elision? /t/ of right is Z>\ here
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41   and it collapsed How is –ed pronounced here?

42   As she picked herself up See line 7, then 41, then 6

       from the floor

43   she noticed the stairs A case of elision?

44   And being a very curious little What happens to and here?

girl

45 she went up Up is not a preposition here; it is stressed

46 and there she found three beds Is there weak or strong? And a case of elision?

47   a big one but it felt too hard

48   a middle-sized one, See line 20 again, if you really need to

49   but it felt too soft

50   and a little one that suited her her: weak or strong?

       nicely

51  and because she felt so See line 15.  So: weak or strong? Notice how comfortable is pronounced
      comfortable

52 she fell asleep.

53 In the meantime,

54   the three bears returned to their Elision?

home

55   and were surprised to find Another case of elision? What happens to /d/ of find?

56   the front door wide open Is /t/ elided, in front? Is <en> in open pronounced as a syllabic /n/ ?

57   Father Bear was even more A case of assimilation. Is the <ed> of surprised elided in this case?

       surprised

58   to find that somebody had taken That: weak or strong?

59   a spoonful of his porridge His: is /h/ pronounced here?

60   “Someone’s been eating my How is ‘s  pronounced here? Been is weak
       porridge”, he called

61   “And someone’s been eating  My is strong here; so don’t forget the stress mark

       my porridge”, said Mother Bear said does not have a stress mark here, but assimilation?
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62  “And someone’s been eating
my porridge

63   and eaten it all up”, said Baby Assimilation?
       Bear

64  “And someone’s been sitting
       in my chair”, said Father Bear Assimilation?

65  “And someone’s been sitting
in my chair”, said Mother Bear See line 61

66 “And someone sat on my chair Assimilation?

67    and broke it”, cried Baby Bear Two cases of assimilation

68   “Well, who’s been in our house, How is ‘s pronounced here?  Our: weak or full?

69   while we were all out?” they while has a stress here, possibly because it is followed by a series of weak
      asked syllables. NB ‘linking /r/’ What happens in asked?

70   “I’m going to look upstairs”, Is going to pronounced stressed? Note the stress pattern of upstairs

       said Father Bear

71   “Hey, someone’s been lying
       on my bed”, he called Assimilation. Is the /h/ of he pronounced?

72   “And someone’s been lying See line 61 again, if you must
       on my bed”, said Mother Bear

73   “And someone’s been lying
on my bed

74   and she’s still there, There ?

75   fast asleep”, said Baby Bear

76   His voice woke her up What two things happen to her here?

77   She sat up in bed Assimilation?

78   and frightened by the sight The <ed> of frightened is elided, but what happens as a resul?

       of the bears,

79   she jumped down Another case of elision

80   ran past them The /n/ of  ran is kept, but what happens to the /t/ of past ?
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81   down the stairs down is a preposition here, but is stressed

82   out of the house, out is stressed

83   back into the woods back is stressed, but into is not

84   and all the way home

*
And now try this conversational monologue in a fairly colloquial style, with less guidance.

1 We’ve been to Italy a couple of Is been stressed  here? Watch out for to, and of
times

2 We’ve driven both times Watch out for a case of assimilation

3 I don’t mind driving Remember the problem of n’t  (and elision!)

4    I really quite enjoy it

5    But in those days Those takes a strong stress here

6    you had all different Remember the problem of –nt

      currencies

7 We stayed overnight in Dunkirk Overnight is a compound adverb here. Don’t forget what happens to /n/
before /k/

8 and paid for bed and breakfast Cases of assimilation

9    in French francs /n/ before /k/ again

10  Then we drove to Belgium

11  and paid for mid-morning coffee How many cases of assimilation in this line? Mid-morning is a compound
adverb turned adjective followed by a stressed word; get its stress right!

12  in Belgian francs And in this?

13  and then on into Luxembourg

14  We bought petrol there Why is /t/ not elided?  There: weak or strong?

15  because it was cheaper Is because stressed or not ?

16  and so we used their currency Elision?  Their  takes a strong stress here

17  and we stopped for a picnic Elision? What happens to for ? There ?

      there too
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18  And then in the afternoon, NB The before a vowel. Afternoon is a compound, but which part has
primary stress?

19  we drove on into Germany NB on is not a preposition here

20  had some food Some: weak or strong?

21 and of course Remember what can happen to of in this phrase

22  we had to pay for that in marks Had: weak or strong? And that ? Assimilation?

23 Four different currencies by
tea-time

24  We stayed with a friend’s Elision?

       family

25  in Southern Germany

26  And the following day

27  crossed the border into Elision?  Liaison?

      Switzerland

28  And there of course we used There: weak? Liaison? We would normally expect elision of /d/ in used in

Swiss francs a case like this one, but the speaker appears to stumble, and does not elide .

29  Then over into Italy Liaison? Look at line 1 again

30  where we had to start using Work out what happens to /t/ + /j/ here

31 Italian lira

32 Six currencies in two days

33 We knew of course before we before is not strong here
started

34  that we would need all this Would: weak?

35  so we had bought a bit of each Had: weak? And what else happens?

36 but on the way back NB on is stressed here

37  we converted bit by bit Assimilation?

38  all the currency that we wouldn’t Work out the n’t here

      need again
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39  changing all our lira into Swiss Liaison?

      francs

40  and then all that into German Assimilation?
      marks.

41 Quite crazy

42  and we probably lost quite a Elision?
      bit that way

43  But now, they use euros all The /z/ of use is retained here, although it could have easily become .Y.
      the way

44  except Switzerland Elision?

45  it’s so much easier So: weak or strong?

46  and so you don’t lose so much So twice: weak or strong in each case?

*
And finally this conversational monologue with no guidance.

we were actually in America at the time . uh we’ll always remember the eleventh of
September of course . we were staying with friends in San Francisco . we’d put our Jonathan .
on a plane back to LA . uh . because he had to get . back for his classes . but we couldn’t help
but think then . at the time . how lax their idea of security was . you know he actually offered
his coat to them and opened his bag and so on . but they just waved him through . as if he was
. catching a bus . and I remember thinking then . that wouldn’t happen in Britain . not even in
Cardiff . you know just like  . you know . our little airport like Cardiff . that was the  . that
was the Monday morning . and then on the . that was the Monday evening . then on the
Tuesday morning  . I got up . and went to make a cup of tea . you know .  to get going in the
morning . Karen our friend .  was already up . and was about to go off jogging . when there
was a phone call . and as she was talking on the phone . she switched the television on . and I
thought that was strange . you don’t normally turn the  . TV on . when you’re talking to
somebody on the phone . well it was her husband Jim . he’d heard  . of a disaster in New
York on his way to work . not knowing quite what was happening . and there on the screen .
we saw one of the towers  . blazing away . and there was a strong suspicion  . that this was no
accident . and then on the screen  . came this second plane . looking as if it was heading
deliberately . at the at the other tower . and there before my very eyes . the most appalling
disaster was unfolding . I called Charlotte . my wife . to come and see . she’d still been in bed
. waiting for that cup of tea . you’ve got to remember . that San Francisco’s about . three
hours behind New York .  so when it was ten over in New York .  it was only uh it was only
seven where we were . so there we were .  the three of us . watching this horrible disaster
unfolding on TV . Charlotte and me and Karen . as I said Jim had gone off to work early that
morning . well it was incredible . we were just stunned by it all . we just couldn’t believe
what we were watching . it was more of a horror film than reality .  and then the first tower
crumbled . this was . more than a bad movie . and then unbelievably the second tower as well
. I still remember the horror  . of watching it all happen as it happened . and the great .
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billowing of dust and smoke . pouring down the streets at a frightening speed . and then of
course there was the Pentagon plane too . and the terrific devastation there too . there was a
fourth hijacked plane . and we learned of the heroic efforts of the . passengers . knowing that
they were going to die for a . for certain . but they seized the hijackers . and rammed the
plane . into the ground . but off target . people assumed that it was heading towards
Washington . we sat there . bewildered .  stunned .  overcome with the power of it all . so
much to take in . all of it staggering . we sat there silent . open-mouthed . shocked . we
remained quiet all morning . and then the first fatalities were being named . those planes . had
been on their way to LA . and San Francisco . so the majority of the dead . were . local men
and women . their names were appearing on a moving line at the bottom of the screen .
practically all of them local people . it was just so dreadful . Karen had had the day off . but
she decided to go into school later on . she’s a school counsellor . and felt that she should be
there to help . we left in the afternoon . I got petrol in their local garage . there was just this
awful eerie silence among the people . it was as if the whole city had gone quiet . oh what a
day that was

*
You have now completed the most thorough and comprehensive introduction to the
transcription of phrases in English that is available anywhere. There will not be an
English phrase now that you will not be able to transcribe, in either an informal or a
more formal style!
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Key

!cYPl !aTk    !cYPl !oN9k    !cYPl !lHksm<    !cYPM !jzkuHm    !aDM !fUm    !fN9c?l !aq`Tm    !qPaHM !jTj
!j?TkHl !o`t?k   !l@9sHl !aDk   !zM !jkt9Hc   qH!oUakHj?l $o@9sh   qH!oUakHj?M !f@9c    !cPM !jvHjr?s            
 !jzSqM !jTjr?m    !cPl !aqzal?m    !jPkHM !j`Tcqh    !H?l !a?TS?l   !q`H?M !fHfy    !cdHuHa !aDj?l         
!qHsR?a !a29sm<    !a29m?a !lzSit9y    !qPmk< !qdHf?m    !a29sq?m !qUrk<    !qdHl?l !azjrs?    !jqHR !cY?Tmy          
!kHY !idHsr    !kh9cY iT!m`Hs?c    !@9S?q !zrjh    !qPcY?q !DkHr    !a@9aq?q !Dcv?cy    !rD?q?q !@9lrsqPM               
!zeqHj?M !jvh9m    ?!lDqHj?l !ait9sh     !RdHjroH?q Hm !kUu    !fqzM !jzmi?m    !qHe !uzkh    !zl?y?l !adHrm<  
!h9r !sh9lN9    !vDr u?!cYHmH?    !?Tk !sqze?c    !`H?laqHcY    !qHu?q !dHu?m    !dHu?M !fN9cY
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Goldilocks
'" = Transcribed as in the accompanying recording; other, RP/SESP, speakers may well use a different form in these words.)
!vPmsr" ?oPm ? !s`Hl C? v?y ? !kHsk< !f29k !jN9k !f?TkchkPjr !vPm !cdH Rh !vDms eq ? !vN9j   
Hm C? !vTcy !N9k a`H ?!rDke ?m !zY Rh !vN9j c`Tm "!vPl !ozS Rh !rN9q ? !m`Hr !g`Tr 
!rHmsR Rh v?y !eTk ?u jiT?qh!Pr?sh Rh !vN9j jk?Tr !a`H ?m !m?TsHr C?s C? !cN9 v?y ? kHsk< 
?!cY@9 Rh !mPj a?s C? v?y m?T qH!ok`H Rh !jN9kc ?m C? v?y !rsHk m?T qH!ok`H ?l aH!jPY Rh 
v?y r?T !jiT?qh?r Rh cH!r`Hc?c s? !oh9o Hm!r`Hc !CD? Rh !rN9 ? !sdHa?k ?m !Pm C? !sdHa?k
C? v? !Sqh9 !a?Tky ?u !oPqHcY ? !aHf "vPm ? !lHck<r`Hy "vPm ?m ? !kHsk< "vPm ?!fdHl aHjPY
Rh v?y r?T !jiT?qh?r Rh !zjsR?kh !sTj ? !rot9meTk eq?l C? !aHf "vPm a?s Hs v?y !st9 !gPs
!r?T Rh !sTj ? !rot9meTk eq?l C? !lHck<r`Hy "vPm a?s Hs v?y !st9 !j?Tkc ?m !CDm Rh !sTj ?
!rot9meTk eq?l C? !kHsk< !a?Tk ?m !Czs v?y !cYUr !q`Hs ?m Rh !sTj ?!mUC? !rot9meTk aH!eN9
Rh !qH?k`Hyc Hs Rh c !h9sm< Hs !N9k !Uo Rh !eDks jv`Hs !eTk ?m cH!r`Hc?c s? !rHs Hm "!vPm ?u Ch !h9yh
!sRD?y C? v?y ? !aHf !sRD? a?s Hs v?y !st9 !g@9c C? v?y ? !lHck<r`Hy !sRD? a?s !Czs v?y !st9
 !rPes ?m !CDm C? v?y ? !kHsk< !sRD? ?m !Czs !eDks !cYUr !q`Hs a?s Rh !kh9m !q`Hs !azj ?m Hs 
j?!kzors !zY Rh !oHjs ?!rDke !Uo eq?l C? !ekN9 Rh !m?TsHr C? !rsD?y ?l !ah9HM ? uDqh 
!jiT?qh?r !kHsk< !f29k Rh !vDms !Uo ?m !CD? Rh !e`Tm !Sqh9 !aDcy ? !aHf "vPm a?s Hs !eDks !st9 
!g@9c ? !lHck<r`Hy "vPm a?s Hs !eDks !st9 !rPes ?m ? !kHsk< "vPm C?s !rt9s?c g? !m`Hrkh ?l      
aH!jPY Rh !eDks r?T !jUles?a?k Rh !eDk ?!rkh9o Hm C? !lh9ms`Hl C? !Sqh9 !aD?y qH!s29m s? CD?   
!g?Tl ?m v? r?!oq`Hy s? !e@Hm C? !eqUms !cN9 !v`Hc !?To?m !e@9C? !aD? v?y h9u?l !lN9     
r?!oq`Hy s? !e`Hm C?s !rUla?ch ?c !sdHj?m ? !rot9meTk ?u Hy !oPqHcY "!rUlvPmy ahm !h9sHM 
l`h !oPqHcY h !jN9kc ?m "!rUlvPmy ahm !h9sHM !l`h !oPqHcY rDa !lUC? !aD? ?m !rUlvPmy 
ahm !h9sHM !l`h !oPqHcY ?m !h9s?m Hs N9k !Uo rDa !adHah !aD? ?m "!rUlvPmy ahm !rHsHM Hl l`H
 !sRD? rDc !e@9C? !aD? ?m "!rUlvPmy ahm !rHsHM Hl !l`H !sRD? rDa !lUC? !aD? ?m              
"!rUlvPm !rzs Pl !l`H !sRD? ?l !aq?Tj Hs !jq`Ha !adHah !aD? vDk !gt9y ahm Hm @9 !g`Tr  
v@hk vh v?q !N9k !`Ts CdH @9rs `Hl !f?THM s? !kTj Uo!rsD?y rDc !e@9C? !aD? !gdH "!rUlvPmy
 ahm !k`HHM Pl l`H !aDc h !jN9kc ?m "!rUlvPmy ahm !k`HHM Pl !l`H !aDc rDa !lUC? !aD?   
?m  "!rUlvPmy ahm !k`HHM Pl !l`H !aDc ?m Rhy !rsHk !CD? !ezrs ?!rkh9o rDa !adHah !aD? gHy   
!uNHr !v?Tj ?q !Uo Rh !rzs !Uo Hl !aDc ?m !eq`Hs?l a`H C? !r`Hs ?u C? !aD?y Rh !cYUlo      
!c`Tm !qzl) "!ozr C?l !c`Tm C? !rsD?y !`Ts ?u C? !g`Tr !azj Hms? C? !vTcy ?m !N9k C?   
!vdH !g?Tl          ') In the accompanying recording, the speaker does not in fact change /n/ to /m/ because of a slight hesitation.)

We’ve been to Italy a couple of times
vhu !ah9m st )!Hs?kh ? !jUok ?u !s`Hly vhu !cqHu?l !a?TS !s`Hly `H c?Tm> !l`Hm !cq`HuHM 
`H !qH?kh jv`Hs Dm!cYNH Hs a?s Hm !C?Ty !cdHy it gzc !N9k !cHeq?m> !jUq?msrhy vh !rsdHc ?Tu?
!m`Hs Hm )cUM!j29j ?l !odHc e? !aDc ?l !aqDje?rs Hm !eqDmsR !eqzMjr !CDm vh !cq?Tu s? 
)!aDkcY?l ?l !odHc e? !lHalN9mHM !jPeh Hl !aDkcY?m !eqzMjr ?m CDm !Pm Hms? 
!kUjr?la29f vh !aN9> !oDsq?k !CD? aHj?y Hs v?y !sRh9o? ?m !r?T vd !it9y !CD? !jUq?msrh ?m 
vh !rsPo eq ? !oHjmHj !CD? !st9 ?m !CDm Hm Ch !zes?mt9m vh !cq?Tu !Pm Hms? )!cY29l?mh 
!gzc r?l !et9c !zmc ?e !jN9r vh !gzc s? !odH e? !Czs Hl !l@9jr !eN9 !cHeq?m> !jUq?msrhy 
a`H !sh9 s`Hl vh !rsdHc vHC ` !eqDmy !ezlkh Hm !rUC?m !cY29l?mh ?m C? !ePk?THM !cdH 
!jqPr C? !aN9c?q Hms? )!rvHsr?k?mc ?m !CD?q ?e !jN9r vh !it9yc !rvHr !eqzMjr !CDm !?Tu?q 
Hmst !Hs?kh vD? vh !gzc s? !rs@9> !it9yHM H!szkH?m !kh9q? !rHjr !jUq?msrhy Hm !st9 !cdHy 
vh !mit9 ?e !jN9r aH!eN9 vh !rs@9s?c C?s vh v?c !mh9c !N9k !CHr !r?T vh a !aN9s ? !aHs ?u !h9sR 
a?s !Pm C? !vdH !azj vh j?m!u29s?a !aH> a`H !aHs !N9k C? !jUq?msrh C?> vh !vTcm<> !mh9c 
?!fdHm !sRdHmcYHM !N9k @9 !kh9q?q Hms? !rvHr !eqzMjr ?m CDm !N9k !Czs Hms? !cY29l?l !l@9jr 
!jv`H> !jqdHyh ?m vh !oqPa?akh !kPr !jv`Hs ? !ah> !Cz> !vdh a?> !m`T CdH !it9y !iT?q?Ty 
!N9k C? !vdH Hj!rDo !rvHsr?k?mc Hsr !r?T lUsR !h9yh? ?m r?T i? !c?Tm> !kt9y r? lUsR
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We were actually in America at the time
vh v?q !`jsR?kh Hm ?!lDq?j?q ?s C? !s`Hl - ? vh k !N9kvdHy qH!lDla? Ch H!kDu?mS ?u
rDo!sDla?q ?u !jN9r - vh v? !rsdHHM vHC !eqDmy Hm )!rzm eqzm!rHrj?T - vh a !oTs @9
)!cYPm?S?m - Pm ? !okdHl !azj st )!Dk !dH - ? - aHjPy "gh !gzc s? !fDs - !azj e? "gHy       
"!jkzr?y - a?s vh !jTcm<> !gDko a?s !SHMj !CDm- ?s C? !s`Hl - !g`T !kzjr CD?q `H!cH?q ?u    
rH!jiT?q?sh vPy - i? !m?T gh !zjsR?kh !Pe?c Hy !j?Ts s? C?l ?m !?To?mc Hy !azf ?m !r?T   
Pm -  a?s CdH cY?r !vdHuc Hl !Sqt9 - ?y He h v?y - !jzsRHM ? !aUr - ?m `H qH!lDla? !SHMjHM
!CDm - !Czs !vTcm<> !gzo?m Hl !aqHsm< - !mPs !h9u?m HM !j@9cHe - i? !m?T !cYUr k`Hj - i? !m?T -
@9  !kHsk< !D?oN9s k`hj !j@9cHe - !Czs v?y Ch - !Czs v?y C? "!lUmcdH !lN9mHM - ?m CDm !Pm  
Ch -   !Czs v?y C? "!lUmcdH !H9umHM - !CDm Pm C? !sRt9ych !lN9mHM - `H !fPs !Uo - ?m !vDms  
s? !ldHj ? !jUo ? !sh9 - i? !m?T - s? !fDs !f?THM Hm C? !lN9mHM - )!jzq?m @9 !eqDmc - v?y     
N9k!qDch !Uo - ?m v?y ?a`Ts s? !f?T Pe !cYPfHM - !vDm C? v?y ? !e?TM jN9k - ?m !zY Rh v?y
!sN9jHM Pm C? !e?Tm - Rh !rvHsR C? sDk?!uHY?m Pm - ?m @h !SN9s !Cz> v?y !rsqdHmcY - it         
!c?Tm> !mN9l?kh !s29m C? - !sh9uH !Pm - vDm iN9 !sN9jHM s? !rUla?ch Pm C? !e?Tm - vDk Hs    
v?y g? !gUya?m )!cYHl - !gh9 c !g29c - ?u ? "cH!yzrs?q Hm )mit9 !iN9j Pm Hy !vdH s? !v29j -
!mP> !m?THM jv`H> !vP> v?y !gzomHM - ?m !CD?q Pm C? !rjqh9m - vh !rN9 "!vPm ?u C?        
!s`T?y - !akdHyhM ?!vdH - ?m C? v?y ? !rsqPM r?!roHR?m - C?> !CHr v?y m?T !zjrHcm<s - ?m   
CDm !Pm  C? !rjqh9m  - !jdHl Chr !rDj?l !okdHm - !kTjHM ?y He H> v?y !gDcHM cH!kHaq?>kh -     
"z> Ch "z> Ch !UC? !s`T? - ?m !CD? aH!eN9 l`H !uDqh !`Hy - C? l?Trs ?!oN9kHM cH!yzrs? v?y 
Um!e?TkcHM - `H !jN9k )!R@9k?s - l`H !v`He - s? !jUl ?m !rh9 - Rh c !rsHk ah9m Hl !aDc - !vdHsHM
e? !Cz> !jUo ? !sh9 - i? u fPs ? qH!lDla? - C?> !rzm eqzm!rHrj?T y ?a`Ts - !Sqh9 !`T?y      
aH!g`Hm mit9 !iN9j - r?T !vDm H> v?y !sDm ?Tu?q Hm mit9 !iN9j - Hs v?y !?Tmkh ? Hs v?y        
 !?Tmkh !rDu?m vD? !vh9 v29 - r?T !CD? vh !v29 - C? !Sqh9 ?u "?y - !vPsRHM CHr !gPq?a?k     
"cH!yzrs?q Um!e?TkcHM Pm sh9!uh9 - !R@9k?s ?l lH ?M !jzq?m - ?y `H rDc !cYHl ?f !fPm Pe s?
 !v29j !29kh !Cz> !lN9mHM - vDk Hs v?y HM!jqDc?a?k - vh v? cY?r !rsUl a`H Hs N9k - vh cY?r
!jTal<o aH!kh9u vP> vh v? !vPsRHM - Hs v?y !lN9q ?u ? !gPq? eHkl "Czm qh!zk?sh - ?m !CDm
C? !e29r !s`T? !jqUla?kc - !CHr v?y - !lN9 "Czm ? !aza !lt9uh - ?m !CDm Ula?!kh9u?akh C?
!rDj?m !s`T?q ?y !vDk - `h !rsHk qH!lDla? C? !gPq? - ?u !vPsRHM Hs !N9k !gzo?m !zy Hs          
!gzo?mc - ?m C? !fqdHs - !aHk?THM ?u !cUrs ?m !rl?Tj - !oN9qHM c`Tm C? !rsqh9sr ?s ?          
 !eq`HsmHM !roh9c - ?m !CDm ?u !jN9r C? v?y C? !oDms?f?l !okdHm !st9 - ?m C? s?!qHeHj         
cDu?!rsdHR?m !CD? !st9 - C? v?y ? !eN9S !g`HcYzj !okdHm - ?m vh !k29ms ?u C? g?!q?THj        
!De?sr Pu "Ch - !ozr?mcY?y - !m?THM C?> CdH v? f?THM s? !c`H e?q ? - e? !r29sm< - a?s Cdh     
!rh9y C? !g`HcYzj?y - ?m !qzl C? !okdHm - Hms? C? !fq@Tmc - a?s !Pe !s@9f?s - !oh9o?k          
"?!rit9l   C?s Hs v?y !gDcHM s?vN9cy )!vPRHMs?m - vh !rz> !CD? - aH!vHkc?c - !rsUmc -      
?Tu?!jUl vHC C? !o`T?q ?u Hs N9k - !r?T !lUsR s? sdHj !Hm - !N9k ?u H> !rszf?qHM - vh !rzs  
CD? !r`Hk?ms - "?to?l!l`TCc - !RPjs - vh  qH!ldHM !jv`H?s !N9k !lN9mHM - ?m !CDm C? !e29r  
e?!szk?shy v? ah9HM !mdHlc - !C?Ty !okdHmy - ?a ah9m Pm CD? !vdH st !Dk !dH - ?m !rzm         
eqzm!rHrj?T - r?T C? l?!cYPq?sh ?u C? !cDc - v? - !k?Tj?k !lDm ?m !vHlHm - CD? !mdHly 
v?q ?!oH?qHM Pm ? !lt9uHM !k`Hm ?> C? !aPs?l ?u C? !rjqh9m - !oqzjs?jkh !N9k ?u C?l        
!k?Tj?k !oh9o?k - Hs v?y cY?r !r?T !cqDce?k - !jzq?m  "gzc !gzc C? !cdH !Pe - a?> Rh          
cH!r`Hc?c s? !f?T hms? !rjt9k !kdHs?q !Pm - Rh y ? !rjt9k !j`Tmr?k? - ?m !eDk> C?> Rh !RTa ah    
!CD? s? !gDko - !vh9 !kDes hm Ch )zes?!mt9m - `H !fP> !oDsq?k Hm CD? !k?Tj?k !fzqHcY - C? v?Y
cY?r CHr !N9e?k !H?qh !r`Hk?msr ?lUM C? !oh9o?k - Hs v?y ?y He C? !g?Tk !rHsh ?f !fPM !jv`H?s
- !?T !vPs ? !cdH !Cz> vPy
" Transcribed as in the accompanying recording; other, RP/SESP, speakers may well use a different form in these words.
In the final two texts, [?] is used as an alternative to /t/ before an immediately following consonant (see pages 7 and 29).


